Addition/Soustraction de Décimaux (I)

Calculez chaque somme ou différence.

52,6 — 14,20 = 76+ 1,9 =
58,20 — 2,32 = 17,56 — 4,1 =
89,36 — 32,8 = 87,2— 9,27 =
53,3+ 3,5 = 98,01 4 27,52 =
97,68 + 53,6 = 47,9 — 5,37 =
46,5 — 4.8 = 63,96 4 43,7 =
91,6 + 67,05 = 38,0 — 9,7 =
28,36 — 24,2 = 49,3 — 14,95 =
86,6 + 8,51 = 69,4 — 49,4 =
712457 = 96,7 + 7,4 =
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Addition/Soustraction de Décimaux (I) Réponses

Calculez chaque somme ou différence.

52,6 — 14,20 = 38,4

58,20 — 2,32 = 55,88

89,36 — 32,8 = 56,56

53,3+ 3,5 = 56,8

97,68 + 53,6 = 151,28

46,5 — 4.8 = 41,7

91,6 + 67,05 = 158,65

28,36 — 24,2 = 4,16

86,6 + 8,51 = 95,11

712457 =769

764+19=95

17,56 — 4,1 = 13,46

87,2 — 9,27 = 77,93

98,01 + 27,52 = 125.53

47,9 — 5,37 = 42,53

63,96 + 43,7 = 107,66

38,9 —9,7=29,2

49,3 — 14,95 = 34,35

69,4 — 49.4 = 20

96,7 + 7,4 = 104,1
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